/4
f;gi

1

NEXT ASS'Y:

FINAL ASS'Y:

REDUCER

TYP

1/2" NPT

/ 2" PIPE

6
T\\VL///\

1
| i
I
|
|
|
I
l

'f—/

|
|
|
|
|
|
|
|
|
| _—
|
|
|
|
|
|
|
|
|
|
|

I
\
N —

11/8"

3" PIPE

!

1/3 D TO INSIDE
_OF PIPE

/8

1/251

Vv <TYP

NPT

WIRE TC TO REMOTE CABINET
| t 3/4" RGS CONDUIT
i | T0 LOCAL JB
| |
| |

K

TYPICAL TC ASSY W/CONNECTION HEAD,

F ORIENTATI F
REGARDLESS OF ORIENTATION O PROVIDED BY INSTRUMENTATION SUPPLIER

MAIN PIPE RUN, THERMOWELL SHALL
BE MOUNTED IN HORIZONTAL POSITION

)

(|

L

CAPILLARY TUBING
ROUTE IN CABLE TRAY RUNS

DIAPHRAGM SEAL SYSTEM

REGARDLESS OF ORIENTATION OF
MAIN PIPE RUN, PRESSURE TAP

(SLOPE 1/8” PER FOOT)

SHALL BE MOUNTED IN HORIZONTAL POSITION

TYPICAL DIAPHRAGM SEAL CONNECTION

SCALE

: NTS

GENERAL NOTES

THERMOWELL TO BE PROVIDED BY INSTRUMENTATION CONTRACTOR AND
INSTALLED BY PIPING CONTRACTOR.

DIMENSION TO VARY BASED UPON APPLICATION.

1/2" SS TUBING, SLOPE 1/8" PER FOOT.

SEE SPECIFICATION 05121 FOR ANCHOR STUD MATERIALS.

A AAAA

PUMP STAND MUST ACCOMMODATE MULTIPLE USE UTILITY LINE AND VALVE AS REQUIRED.

PROVIDED AND INSTALLED BY INSTRUMENTATION SUPPLIER. MECHANICAL CONTRACTOR TO

PROVIDE ALL COMPONENTS UP TO AND INCLUDING MALE END OF VCR CONNECTION.
REGULATING VALVE TO BE SPECIFIED IN DATA SHEET 10606000-DS~-A003.

i

| 2" PIPE TYPICAL FOR LINE
—N SIZES 4" AND ABOVE
THERMOWELL CONNECTIONS <]
FOR PIPE SMALLER THAN 2" NTS
NOTE: THERMOWELL TO BE PROVIDED BY INSTRUMENTATION CONTRACTOR
AND INSTALLED BY PIPING CONTRACTOR.
PLATE HEAT EXCHANGER P
TYP BOTH
VARIES PIPE LEG SIDES 3/4-10UNC HEX JAM NUTS
: WITH LARGE -0.D. FLAT WASHER m
TYPICAL EACH LEG 1"-150# SUP-ON RF
s - r ’ ggESBOTH 1 1/8" HOLES AN 1 |
R T = N I | AN THRU FOR 1"¢ ANCHORS<} /5/16 |/ 12 C4x7.25 x 12" LONG |
1 N 11—
n I | 4x 5/8”(5 ANCHOR BOLTS 3Eﬁb> V
&= N | WITH FLAT WASHER AND HEX / SEAL | 3/4" RGS CONDUIT
< NUT. TYPICAL EACH LEG — HILTI , 1/8” THK STAINLESS STEEL t
e _m \M (OR APPROVED EQUAL) i -
e ) 1" x 12" x 12° ==X
<. 7 SEAL N\ | | 1/8" THK STAINLESS STEEL I AR W A Su— FOOT PLATE STAINLESS STEEL PLATE = o
WELD 4 | COVER ON EACH LEG L UNER PLATE & WIRE TC TO REMOTE CABINET
i : <C
| / — LINER PLATE N /— ~
. et { 4 LINER PLATE [ £ R
" , EXISTING BY OTHERS : ' = ' =
1/2" PLATE yﬂ] | | ﬂ{ ( ) <§§ g s =
T i 5 ® | i “IE
S - TS 3x3x1/4 = — | ’ 4x 5/8" ANCHOR BOLTS < | = <]
NIS N | = Wn:l-*UTF LATH;?QS:E: /i\gggg\% REGARDLESS OF ORIENTATION OF
R = SHIM AS REQUIRED : .
2 N N 1/2" PLATE ; b= FOR LEVELING STAINLESS STEEL TYPE (OR 2 v MAIN PIPE RUN, CONDUCTMITY SENSOR
:g B || A L= APPROVED EQUAL) SHALL BE MOUNTED IN HORIZONTAL POSITION
B u B : c = (SLOPE 1/8" PER FOOT)
)= I o J ~AL ’ |
| ) TYPICAL BEAM DUMP AND TARGET BUILDING 3
DRAIN TANK FOOTPLATE CONNECTION ['YPICAL HEAT EXCHANGER FOOTPLATE CONNECTION :
DETAIL 1 SCALE: 3°=1-0" SCALE: 3 =1-0" | )
PEIALL CONDUCTIVITY INDICATOR <1 |
TANK SIZE @ MINIMUM DEPTH NTS
A | 19 8.25"
PUMP PAD DETAIL JETAIL 1
SCALE: 3/4°=1-0" : 1”9 8.25"
SCALE: 3"=1'-0"
1"g 12.375"
1" 8.25"
19 8.25"
” PRESSURE TRANSDUCER
7 1/4 10 1/4" ——;l\ /
STAINLESS STEEL STRUCTURAL TUBING JBE87006003 '
/ 2"x 2" x 1/8" 2" PIPE ,
7 1/4" 1'-0 7/8" PRESSURE PORT
e e e e - STD SST U-BOLT
STAINLESS STEEL STRUCTURAL TUBING | l FOR 2" NPS SLOPE 1/8" PER FOOT ]
e 2" % 2" x 1/8 | e e — T~ —— - | - | J
| ‘ |
CAP _ — _ _ y
%7 > ye Jssmoocoo‘ay N N e T ,{ __________ I : | I— —
v TN
) (é/ | - - 010 | | ~ %
— e ] P B S S 5 _UNION i l REGULATING VALVE L 1/16 |/
/—UNK)N <] @ e | VR-ss-886-xx |  F&gy-- ‘T -—@®gp -~~~ ~—~— TR
| & | | | |
. e e = - fFf-— - = — - & | | S I R S - - — — S — SR . 1t
. I < i | :) ;
: |
L-——__ __________________________ — - ! i l g | g I S B — - - - - - . _ - A’J—_—_—_I__
REGULATING VALVE REGULATING VALVE | ; REGULATING VALVE | @ | l
VCR—ss—aec—vxx‘\ <} S =//‘vm—ss—sac—vxx | | [ VCR-SS-8BG-VXX | ;
b T ] | | h | |
. i : 1 | [ ﬂ | ﬂ' | | PROVIDE ADEQUATE CLEARANCE
L Ht - 1 | i | 1 FOR WRENCH ACCESS (TYP)
| 5 } : PRESSURE TRANSDUCER l .-'(H!Iﬂ{ ; l
| a / | i
] JE (L | | | VIEW
= 1
_ S | i { OFFERENTIAL PRESSLRE SCALE:  6°=1"-0" JBEB700G003
7\ T , o ] ] We=e) SLoPE 1/8” PER FOOT [~ . TRANSDUCER -
?‘ [ = SLOPE 1/8" PER FOOT ~$- } ? FS T , mp - |
| S — — - | -~
I e — | i o — — T — - - - L
=== RS - Pt s
)  —— ‘ ‘x?— :l +
2
e N | < | — SLOPE 1/8" PER FOOT
| “ i
~ [ | f — — =1
— | e ~ <= 13
l \ |
T——-1 - — - — - - —— = = ——— = = — = : = &
| \_ ~
; PRESSURE TRANSDUCER g g\ . \_
- == = +— MOUNTING BRACKET & |0 E&?ﬁ?ﬁé ggzggggm
| % | 3 |U
2L T ] .
—_ s g
— | e
|
T S I — I 5 15
| 106060000-JBE-8700-G003
i Knight/Jacobs Joint Venture
PRESSURE TRANSDUCER =i o ot s 03| Sy Wearrdlrup
NTS Technology, Inc.
DEVICE DESIGNATOR . ~241-
SEE MG JSERT00AG01 _XXX— DENOTES CORRESPONDING INSTRUMENT NUMBER 1/2" WELD-O-LET DIFFERENTIAL PRESSURE TRANSDUCER 865 241 9433 Tullahoma, TN 37388
FOR ABBREVIATION LIST NTS fax 865-241-3400
DSN___ JH TOWNSEND G\t /\<\ Oak Ridge National Laboratory
DRw D.R. HARDY g — managed for the DEPARTMENT OF ENERGY under
CHK  LFUZER UT- f\ T TELLE= U.S. GOVERNMENT contract k%&;A%?i;&OORZZUS
g%cg gggl)\QBER DEPT —_ PROJECT NAME:
PE SPALLATI NEUTRON SOURCE
PJ S e Y e Y : 7 remy n onny e B 1 e X
. WARRANTY,  EX HPLIED, ' . NUMBER OF TARGET 2 AR 201 DINIGR
L T SO O M SO o SRESR O THIS_DOCUMENT TARGET & DUNE SLILDINGS
IN THESE DRAWINGS, OR THAT THE USE OR DISCLOSURE OF ANY INFORMATION, APPARATUS, | DETAIL CONTROLLED BY MESC DETAH LS
METHOD, OR PROCESS DISCLOSED N THESE DRAWINGS MAY NOT INFRINGE PRIVATE RIGHTS | REQ -
S USUT S S M e U, G 250 T Sk
DISCLOSED IN THESE DRAWINGS. DRAWINéS MAdE AVAILABLE f"OR !NFOR!\.JATION TO BIDDER DRAWING ON CHANGE CONTROL - Ca
éﬁErﬁgrpggwigaﬁcmch?m?? PURPOSES AND ARE TO BE RETURNED UPON REQUEST WHICH SECTION SYSTEM 3 L 1] 48] 49| 50| PLANT BLDG FL SH. OF
, 0R. OR DETAILIS - 0 CERTIFIED FOR CONSTRUCTION - 1/18/02 HT | F | — — = = | =1 —=1= Y | 100346 [i/18/02 R | — | — | | F |— | — — | MBB '/It/ ) 3] J | X| X 3700 1 1
SECTION AND DETAIL KEY Eggg\ggug\éc SNS—TS—G001 REV | Ssee | gvme | Rlauesr DESCRIPTION DSN | CHK | DEPT PE |DATE| Py | DATE | REQ | DATE RPE | RPE NO | DATE sT { cv | EC | EE | EM | IE M SE | AR REV ¢ DATE 62[ UTB“‘)"%W | 51 52 53 WBS "
REVISION OR ISSUE PURPOSE REVISION APPROVALS SQUAD CHECK DRAWING APPROVALS 4 NC NA 106060000 JSESYOQGQQQ
P:\ 9061 8\DRAWINGS\ISSUED\MECH\ 8700\ 1.6\02-01~18 (CFC)\JBE8700GO0B/BWAEN-2002 {19:49 townsejh 7 6 5 3 4 3 2 1




